A & 0l & AFE B Al A

05EE £ 2 3] YursH ALY
SN AL
B SEMBEAI|BIEE
CHSl: SOIMAL|BHAAEHE (crgl: 52l
SA - FHH . O(32) - HRAY - BES Ofl o )3 o iImE=ST
EIP= 39,216,842 29,900,589 9,316,253
= 2,038,922 2,237,669 A198,747
s 1,876,000 1,876,000 0
= 6,065, 132 5,201,882 863,250
Al 29,236,788 20,585,038 8,651,750
SESEEUEE 14,249,483 17,088,262 3,161,201
2 197,600 585, 100 A387,500
s 1,806,000 1,806,000 0
= 2,682,500 2,286,750 395,750
Al 9,563,383 6,410,432 3,152,951
EPSIEINPEEES 7,283,363 6,511, 162 772,201
2 197,600 585, 100 A387,500
= 1,366,500 1,383,750 £27,250
Al 5,729,283 4,542,332 1,186,951
SOZRE SEM S 100,000 875,000 AT775,000
2 50,000 437,500 A387,500
= 35,000 306,250 N271,250
Al 15,000 131,250 £116,250
401 AlEHIZL 048I 100,000 875,000 AT775,000
2 50,000 437,500 A387,500
= 35,000 306,250 N271,250
Al 15,000 131,250 £116,250
01 Al&HI 100,000 875,000 AT775,000
s& A2l H HE = 100,000 875,000 AT775,000
= 50,000 437,500 387,500
= 35,000 306,250 A271,250
Al 15,000 131,250 £116,250
S N F=ENE =N PR 921,800 749,800 172,000
401 AlEHIZL 048I 861,000 689,000 172,000
01 Al&HI 861,000 689,000 172,000
wolAlE & SN FAE 150,000 70,000 80,000
SFEicl sgE & B 60,000 0 60,000
SS1 ARX +2DH A 12,500 0 12,500
S&2I(701) +2 &X| A 19,500 0 19,500
ZtH=2 Y| 2,010,000 1,405,000 605,000
401 AlEHIZL 048I 1,760,000 1,405,000 355,000
01 Al&HI 1,757,000 1,402,000 355,000
2HE121(10-12) Sti+=2 FHHISAH 0 100,000 100,000
2Zel(3p8)S8ti+2 L 28| 30,000 0 30,000
Z=132](1646) U= & XIS A 55,000 0 55,000
AIZ021(1084) B2 EHIZAL 35,000 0 35,000
=232l(828-1) == HHISAL 18,000 0 18,000




SN At
M SEMSE)|BIEE
CHPl: SOIMAD|BHAl SIS S (crol: )

SN - BB B9I(31H) - HRAY ol o HIE
Z5122/(306-1) Eti=2 ZHIZA 20,000 0 20,000
S82l(429-9) =2 EXIBAt 32,000 0 32,000
E2e|(270-2) A AT ZA 20,000 0 20,000

OF=321(391-9)ti+==Z AXISAt 35,000 0 35,000
Ar222|(471-8) =2 HUIS At 20,000 0 20,000
S&e(540-1) H LA | (=TH=7) 35,000 0 35,000
AAH2I(194-8) U2 HEISA 20,000 0 20,000
CEL(47)=2 JHl € 232E 20,000 0 20,000
gal(16-11) ™S/ ZA 35,000 0 35,000
&232(1022) =2 HHISAH2XHZ) 70,000 0 70,000
HES(157) i=2 ZFHISAt 10,000 0 10,000

403 MRS HISAH=01d 250,000 0 250,000

02 SJ12SOCHE X=X 2 A 250,000 0 250,000

2eHel(10-12) S22 FHHIZAt 100,000 0 100,000

SHMLD|BAE FX2el & B 150,000 0 150,000

tE== 2202 457,000 287,000 170,000

401 AlEHIZL S04 387,000 217,000 170,000

01 Al&HI 387,000 217,000 170,000

SEE 23 Y 100,000 50,000 50,000

=c|H S22 ESEAY 100,000 0 100,000

PMZE|(1108) sZE2E HXIZAt 20,000 0 20,000

7.8.~7.19. SR =LMAD|BAIL(SSAIE) Mol 1,053,850 758,649 295,201
S7A

= 147,600 147,600 0

Al 906,250 611,049 295,201

401 AlEHIZL 048I 590,402 295,201 295,201

= 147,600 147,600 0

Al 442,802 147,601 295,201

01 AlEHI 590,402 295,201 295,201

£35t52l(318-13) =2 Mol=+At 114,949 0 114,949

SN FUFE AMH THoH S A 180,252 0 180,252

2025 A2 HH=INE AL (R EHALRE) 305,000 0 305,000

= 244,000 0 244,000

Al 61,000 0 61,000

401 AlEHIZL 048I 305,000 0 305,000

L= 244,000 0 244,000

Al 61,000 0 61,000

01 AlEHI 305,000 0 305,000

FOKT A2 Hi=IHE AL 305,000 0 305,000

L= 244,000 0 244,000

Al 61,000 0 61,000

MAD|BEAlI S 2te| 5,295,100 3,800, 100 1,495,000




2A:
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A SEMEZI|BES
CHel: SHMAD|BA| "2 (Crol: X 21)
2N - ZH - HA(SH) - MRAY - BES Oll &kt J 3 A HwsZ
= 1,806,000 1,806,000 0
= 1,326,000 903,000 423,000
Al 2,163,100 1,091,100 1,072,000
=c|H =clAld 22| 188,100 183,100 5,000
201 ZEH= | 38, 100 33,100 5,000
02 S232EH| 35,500 30,500 5,000
=c|H 2lAd 2323 35,500 30,500 5,000
oI & =XI(SE1) FHIA 30,000 0 30,000
401 AlZHIZL S CHY] 30,000 0 30,000
01 Al&H| 30,000 0 30,000
oA N==XI(SL1) FHIA 30,000 0 30,000
Mo N=XI(E2) ZHISA 50,000 0 50,000
401 AlZHIZL S CHY] 50,000 0 50,000
01 Al&HI 50,000 0 50,000
Mol M==XI(E=) EHISAt 50,000 0 50,000
20258 =2 RAE M=K A2 22ZAHY 1,410,000 0 1,410,000
= 423,000 0 423,000
Al 987,000 0 987,000
401 AlEHIZSOHY] 1,410,000 0 1,410,000
[ 423,000 0 423,000
Al 987,000 0 987,000
01 Al&HI 1,410,000 0 1,410,000
CERAEMRI(TH25) AIEE22A 600,000 0 600,000
(= 180,000 0 180,000
Al 420,000 0 420,000
CEAEM=X(0H) AISE2AY 810,000 0 810,000
= 243,000 0 243,000
Al 567,000 0 567,000
SEXNSGNEY 1,671,000 777,000 894,000
JI=MEOIHR (I HSHEXZ) (M EALY) 1,644,000 750,000 894,000
401 AlEHIZL S| 1,644,000 750,000 894,000
01 Al&HI 1,641,000 747,000 894,000
AHel S22 A FHIZA 15,000 0 15,000
AElR] = Jgz ZEBA 24,000 0 24,000
etel 013t EHIA 45,000 0 45,000
S32(183-1) =2 ASFAI| A 20,000 0 20,000
L S(243-4)0tsetd = 60,000 0 60,000
LE1S(968-1) S2EHSA 65,000 0 65,000
=25 (544-5) 2 HELFSAL 20,000 0 20,000
UeHS(165) sZ LI A 25,000 0 25,000
SHRS(AMOINIE) MEYE RH3AH24E
£ 39d) 600,000 0 600,000




2A:
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S - T - BRI(EH) - MDA - BES il ko8 ol F o HimE=T
| | LHEH1S(155) =2 ZESA 40,000 20,000 20,000
F0IS oA 9,390,809 7,613,618 1,777,191
= 175,234 175,234 0
L= 1,605,000 1,680,000 275,000
Al 7,610,575 5,758,384 1,852,191
A2 F0I=RALY 9,390,809 7,613,618 1,777,191
= 175,234 175,234 0
L= 1,605,000 1,680,000 275,000
Al 7,610,575 5,758,384 1,852,191
ARV (SHS) ALY 5,569,409 3,908,218 1,661,191
401 AlEHIZLROHY| 5,566,409 3,905,218 1,661,191
01 Al&HI 5,556,409 3,895,218 1,661,191
244 SIS SPSAHEE2I31-1) 0 60,109 260,109
FAAT2|(278) HH+=Z EXISA 0 20,000 220,000
AE4S(905-1) Otk & 0 30,000 230,000
=5 Z2Y AIHEH| SAt 100,000 30,000 70,000
272 BSAIE SX22H(SR) 25,000 0 25,000
272 BSAIE SXZ2H(ER) 25,000 0 25,000
ar2121(871-6) =2 SXISA 15,000 0 15,000
QAIS(521-1) OISr! LEHB AL 170,000 0 170,000
QAM1S(237-1) D=tz Fh| 30,000 0 30,000
&sHel(524) =2 &X 20,000 0 20,000
2t4321(438) <=2 &X 30,000 0 30,000
guel Osetd ZE 80,000 0 80,000
4322 s22% 45,000 0 45,000
=F2el(761-1) AHHE=TAt 25,000 0 25,000
CHE2el Ss&ED EH3A 40,000 0 40,000
SY221(231-10) =2 ZHIZAt 30,000 0 30,000
0F2H121(358) AFHESEAD] 30,000 0 30,000
w1l =2 ZXISA 65,000 0 65,000
ateHel(272-11) 721 ZHISAt 100,000 0 100,000
s22/(311-1) OISE2 SHEEIA 50,000 0 50,000
AMNS12l(172) B2 HHIBAF 22,000 0 22,000
HT12I(237-2) AtHEH SAH 20,000 0 20,000
T=221(724-2) U422 WHl SAt 20,000 0 20,000
HE121(261-2) OIS&10 HEl A 20,000 0 20,000
&x22|(716) 42 HHISA 25,000 0 25,000
SH1cl OISt B ETZAL 32,000 0 32,000
S52/(334) 7H oli=s73A 21,000 0 21,000
&eHel Y=0t=3l2 AIHEHIZS A 30,000 0 30,000
2EH2l(433-2) AtE 22ZAt 14,000 0 14,000
Ot=121(148-3) =2 HUISA 10,000 0 10,000




2A:

Mn: FpI=EL

CHol: ARDFOISEIAYS (el 2i21)

S - BB SRA(SH) - NRAY - BAS 0l &k ol & o limE==
Al12](225-6) BLERDI] ZA 15,000 0 15,000
AlR121(14) A= AIIZBA 25,000 0 25,000
S3121(21-2) =2 EXISAt 15,000 0 15,000
A312((583-1) AR A 30,000 0 30,000
EH232((123) =2 EXISAH 15,000 0 15,000
22121(353) S2EEHITA 35,000 0 35,000
AF221(478) &2 ZEHSAH 12,000 0 12,000
OFZ221(589-1) =2 AXIZAt 15,000 0 15,000
ZE2l(1-12) St ArHE| 20,000 0 20,000
ZA421(449-1) =2 HUISA 20,000 0 20,000
ZE2l(4 50-2) 23IEXH 15,000 0 15,000
42| =2 E-AY 88,300 0 88,300
JHsHel =2 23 At 15,000 0 15,000
SRS 2= LAUE BE 45,000 0 45,000

sh2E AEE His=2 &EHl & 12018

=W 25,000 0 25,000
g218(703-7) 0222 F 10,000 0 10,000
=335 (1148-8) Ot &y 60,000 0 60,000
MEe(1262) =2 ZEHIA 45,000 0 45,000
RAER(1855-14) OIS ZEITA} 10,000 0 10,000
Z=0r221(638) =Y AXISA 12,000 0 12,000
=2321(705-8) SRUH SFRSA 70,000 0 70,000
Sttel 0l 2& ZE3AM 80,000 0 80,000
=F121(113-2) =2 HE3A 30,000 0 30,000
A ERF0U=SRA(QU) ALY 361,000 170,000 191,000
402 SIEXHE0IA 361,000 170,000 191,000
01 QI2HHE AT B (KHMITHE) 361,000 170,000 191,000
SiHel Oisz& B 80,000 0 80,000
&82e| OlSsl& el (&H]) 10,000 0 10,000
A21el(xM) ossa B 17,000 0 17,000
S43el Otszl2 2=+ 12,000 0 12,000
Z=3e(8Y) iss2 2= 10,000 0 10,000
Stte| OS2 2 22,000 0 22,000
SHRE(22F2) OISl B3 At 20,000 0 20,000
af=1cl D=3l JHE= 20,000 0 20,000
AT (SH) ALY 2,969,000 3,044,000 275,000
L= 1,542,000 1,617,000 275,000
Al 1,427,000 1,427,000 0
401 AlEHIZLROHY] 2,969,000 3,044,000 275,000
L= 1,542,000 1,617,000 A75,000
Al 1,427,000 1,427,000 0
01 AlEHI 2,969,000 3,044,000 275,000




SN 2Ae Dt
Hu: FOIZBO)A

CHol: ARDEDIZRIAY

SA - BE - S9(30) - HRAY - BES ol &k ol & o imEET
Al =H A2l OtSZE ZZSA 0 75,000 275,000
L= 0 75,000 275,000
THoH THEH Ol 15,299,756 10,945,403 4,354,353
= 1,666,088 1,477,335 188,753
s 70,000 70,000 0
= 1,777,632 1,235,132 542,500
Al 11,786,036 8,162,936 3,623,100
ot& FHl 15,299,756 10,945,403 4,354,353
= 1,666,088 1,477,335 188,753
s 70,000 70,000 0
= 1,777,632 1,235,132 542,500
Al 11,786,036 8,162,936 3,623,100
SR & = 1,416,600 656,000 760,600
201 LB AY| 184,000 109,000 75,000
01 AtS-2teld 152,000 77,000 75,000
otd 2 AGHE sXlZel 150,000 75,000 75,000
308 XXM SO 3,600 0 3,600
13 SI 12 SOICHE A2 A 3,600 0 3,600
otd FHIAY EaAE 30 20z 3,600 0 3,600
401 AlEHIZL 048I 1,192,000 510,000 682,000
01 Al&HI 1,188,256 507,606 680,650
otd & AGHE RXZtel 198,200 99,100 99,100
e SEE s |RAE* 80,000 40,000 40,000
O (15700 L) RAES 99, 100 49,550 49,550
CHE Hi=ZHIAE 80,000 0 80,000
HS® A (B2 40,000 0 40,000
SHA AHZ FHUIAID (X022 250,000 0 250,000
=240t Hi=EUIALE 20,000 0 20,000

MENSHA =4 EIZY AESA(HSAGHE

S 30M4) 22,000 0 22,000
Hdzd FRIAHZ TLAY 50,000 0 50,000
SHE MY HNAEE B 30,000 0 30,000
03 AIZSR0Hd| 3,744 2,3%4 1,350
otd & AGHE RXZtel 1,800 900 900
AOHE(15700 L) RAES 900 450 450
SIEAIEE FLUEA L FUI(FU))(BEX)(MEALL 328,000 243,000 85,000
= 164,000 121,500 42,500
Al 164,000 121,500 42,500
401 AlEHIZL 048I 328,000 243,000 85,000
= 164,000 121,500 42,500
Al 164,000 121,500 42,500
01 Al&HI 326,250 241,250 85,000
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S B SRI(BH) - HRAY - BAS D ol & o imEET
Aot AldE L& & Jdl 326,250 241,250 85,000
= 163,125 120,625 42,500
Al 163,125 120,625 42,500
26t EH| 720,000 320,000 400,000
401 AlEHIZL 048I 720,000 320,000 400,000
01 Al&HI 718,380 318,380 400,000
=8 A0t FHIAY 320,000 20,000 300,000
HAZAGHE HUIAMY 100,000 0 100,000
20tE HUIAIY XIA(2S) (Al X&) (HStAY) 1,400,000 700,000 700,000
401 AlEHIZLROHY] 1,400,000 700,000 700,000
01 AlEHI 1,394,960 697,480 697,480
2=20td FUIAE 1,394,960 697,480 697,480
03 Al£ S04 5,040 2,520 2,520
2=a0td FUIAE 5,040 2,520 2,520
20tE FHIAY XIA(RALE) (ATE (HEALY) 400,000 200,000 200,000
401 AlEHIZL 048I 400,000 200,000 200,000
01 Al&HI 398,782 198,782 200,000
AU LASHE ZEHIAFY 398,782 198,782 200,000
KILSHA THOHOI (M BHAID) 500,000 0 500,000
L= 500,000 0 500,000
401 AlEHIZL 048I 500,000 0 500,000
= 500,000 0 500,000
01 Al&HI 496,400 0 496,400
Xgotd KXzt 496,400 0 496,400
L= 496,400 0 496,400
03 A2 3,600 0 3,600
Xgotd |2t 3,600 0 3,600
L= 3,600 0 3,600
A0tE FHIAIY XA (AG) (Al BEH (HEALY) 200,000 0 200,000
401 AlEHIZL 048I 200,000 0 200,000
01 Al&HI 200,000 0 200,000
AEAGHE ZHIALY 200,000 0 200,000
CHEA Xt XHﬁHg?AP%(XPiﬂ) 4,600,000 3,500,000 1,100,000
401 Al&HIZLROHY| 4,600,000 3,500,000 1,100,000
01 Al&HI 4,000,000 3,000,000 1,000,000
CHE® XIZotd o=+ Ak 4,000,000 3,000,000 1,000,000
02 Zeldl 600,000 500,000 100,000

CHEA XILotE THoH=7 A HEALS

2el=d 600,000 500,000 100,000
20tE o=+ At 744,659 724,659 20,000
401 AlEHIZL 048I 744,659 724,659 20,000
01 Al&HI 744,659 724,659 20,000




SN A8
ZE: THOH THE ol
£el: old ZHl (Crol: X 21)
2A - ZH - HA(S) - MRAIY - BES Off koK J 3 A HwsZ
SAGHE S ALY 20,000 73,540 253,540
S|EAGHE oS TAISE (FIHIIGH) 53,540 0 53,540
=g A0tE oS AML(SAM THEX 20,000 0 20,000
=ItotE(S8d) | € 25 188,753 0 188,753
= 188,753 0 188,753
401 AlZHIZL S CHY] 188,753 0 188,753
= 188,753 0 188,753
01 AlZHI 188,753 0 188,753
=Itetd |X L 2 188,753 0 188,753
= 188,753 0 188,753
e MHOHe 200,000 0 200,000
401 AlEHIZSOHY] 200,000 0 200,000
01 AlZHI 200,000 0 200,000
HH6w Mot (24 Sw) 200,000 0 200,000
Ness 23,508 0 23,508
B8XE 23,508 0 23,508
=EHIEXES BHEs 23,508 0 23,508
802 BtetsJIE 23,508 0 23,508
01 =nEXzttes 6,940 0 6,940
20243 ADIEAS ALY 25 1,392 0 1,392
2023 ADLEAS ALY 25 5,548 0 5,548
02 Al - ZHIZZ 3= 16,568 0 16,568
20228 H=EZIHEAY 16,568 0 16,568




